
FOR COUNTY: GREENLEE

A
Base Amount (Number of participating counties 

multiplied by $14,400.00) 14,400.00$                

B 1. Days of Instruction (SY 2013-2014)
0

2. ARS 15.913.01.2a 10.80$            

3. Multiply Line B1 times B2
-$                            

C Total Group A and B Amount (From Page 2)
-$                            

D Result (Lines A + B3 + C)
14,400.00$                

Jails Education Program

A.R.S. 15.913.01

FY 2015



Jails Education Program
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County: GREENLEE

Group A

Base Level Total Capital Outlay Base Level Total Regular Group A

Instructional 

Days Total Group A

3,373.11$       x 2 x .72 = 4,857.2784$         + 72.00 = 4,929.2784$       /180 27.3849 - 10.8000 = 16.5849 x 0.00 = -$                  

Group B

DISAB Categ Base Level Weight Total Capital Outlay Base Level Total Regular Group B

Instructional 

Days Total

HI 3,373.11$       x 5.771 x .72 = 14,015.6768$       + 72.00 = 14,087.68$         /180 78.2649 - 10.8000 = 67.4649 x = -$                  

MD_R 3,373.11$       x 7.024 x .72 = 17,058.7617$       + 72.00 = 17,130.76$         /180 95.1709 - 10.8000 = 84.3709 x = -$                  

MD_SC 3,373.11$       x 6.833 x .72 = 16,594.8917$       + 72.00 = 16,666.89$         /180 92.5938 - 10.8000 = 81.7938 x = -$                  

MD_SSI 3,373.11$       x 8.947 x .72 = 21,729.0349$       + 72.00 = 21,801.03$         /180 121.1169 - 10.8000 = 110.3169 x = -$                  

OI_RES 3,373.11$       x 4.158 x .72 = 10,098.2818$       + 72.00 = 10,170.28$         /180 56.5016 - 10.8000 = 45.7016 x = -$                  

OI_SC 3,373.11$       x 7.773 x .72 = 18,877.8125$       + 72.00 = 18,949.81$         /180 105.2767 - 10.8000 = 94.4767 x = -$                  

PSD 3,373.11$       x 4.595 x .72 = 11,159.5971$       + 72.00 = 11,231.60$         /180 62.3978 - 10.8000 = 51.5978 x = -$                  

ED_P 3,373.11$       x 5.822 x .72 = 14,139.5374$       + 72.00 = 14,211.54$         /180 78.9530 - 10.8000 = 68.1530 x = -$                  

MMR 3,373.11$       x 5.421 x .72 = 13,165.6531$       + 72.00 = 13,237.65$         /180 73.5425 - 10.8000 = 62.7425 x = -$                  

VI 3,373.11$       x 5.806 x .72 = 14,100.6792$       + 72.00 = 14,172.68$         /180 78.7371 - 10.8000 = 67.9371 x = -$                  

Total Group B -$                  

Total Group A and B -$                  

To page 1, Line C for single county programs, Line E for multiple county programs)

Daily


